A £ 0l & AF & S

20243 =0llah LB EXIE 20

Al A

A EXNEE
33 X0 NF2
tel: EXo s28 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EXEE 1,400,915 415,062 985,853
= 28,650
Al 1,372,265
SSHOI XA 2| 1,214,860 231,791 983,069
= 28,650
Al 1,186,210
EXo 288 23 1,214,860 231,791 983,069
= 28,650
Al 1,186,210
KETHEAL AP =& 31,615 202,266 A170,651
= 28,650
Al 2,965
201 Ler=23 | 3,848 83,056 AT9,208
= 2,052
Al 1,79%
01 AtR2te|HI 3,452 76,159 NT2,707
OXNHMEA S22 2,052
—IIES ByLaE 688, 0002 683
2 688
—XNHETHZA 2] 1,364,000 1,364
= 1,364
OXHMEAIRI S 2o &F =&
100,000& *7 & »23] 1,400
02 s3=gHl 3% 6.897 26,501
OXHETEAL 2HIY S4IR=
33,000 *129HE 3%
203 HR=H] 1,169 4,010 2,841
03 A=A 2= 1,169 4,010 A2,841
OXIHTHZEAALY HR=
1,670,000&+0.7 1,169
308 AXIHSOIA 26,598 0 26,598
= 26,598
18 SIS0t & AAS A 26,598 0 26,598
OXIAETHEAL EEH 26,598,000 26,598
= 26,598
KIETHZAL A F=21(R01) 3,213 0 3,213
201 el 3,213 3,213
01 At22t2lt] 3,213 3,213
OXETHZEAL JIEE &I
40,7008 48 163
OXNHINIZ=E SEEA 12,3208 %48 50
OXEMZAIRIE 2 32 FA=E
100,000 *7& =23l 1,400




SN EXNFLD
M 280 &2
ol EXS 228 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZAHZEHAAS! 3|9 #ME
100,000 »8 & +23] 1,600
KIZTHEAL AL F=EI(AAF) 3,213 3,213
201 2= 3,213 3,213
01 AtR22IH| 3,213 3,213
OXEMEN JIZE Dt
40,7003 x4 H 163
OXNZEIIZE & A 12,3203 4% 50
OXIETUEAIR RS 519 &A2T
100, 000& »7 H 22 1,400
OFHZHAAE 3o BHLL
100,0002 «8 & *23] 1,600
KETHZAF AP FE(LF) 783,759 783,759
201 ZEet2& ] 9,669 9,669
01 AFS2teltl 9,669 9,669
OXEMEAL JIEE &
40,7003 x4 & 163
OXHIIZ=E &AL 12,3202 +4H 50
OgEEE &y 3,250,000 3,250
OXNETHEAIRIRE] 39 &AL
100, 00024 %7223 1,400
OBHZHAAS| 3|0 &g
100, 0002 »8 & +23] 1,600
OAFBIIL42
45,8002 <35 X|+27| 2 3,206
301 Et2E = 774,090 774,090
14 JIEt2 a3 774,090 774,090
OXNEMEAL &3 774,090,000 774,090
FSUHEEHBSREAAE 29 212,871 12,616 200,255
201 L2 212,871 12,616 200,255
02 224l 212,871 12,616 200,255
ORSMUSETIRAIAE AHLAYI 200,255
—AE2|XI(EMC UNITY XT380H)
24,255,000 «1CH 24,255
—APAE 2 DBAHH(I1BM S922(9009-22G) )
77,000,000 *2CH 154,000
—ot=RI0l 2el2E
22,000,000 *1CH 22,000
ORSUSESFAIAE W =A2==H| 12,616
—c|ZEE(0Z Xstudio) 45,8303 * 122 550
—==Xl, 32tz 22l (GeodT)
61,6002« 122 740
—JHeIHE 253k Cubelne)
173,800 128 2,086
—=24F B2 E (MapPrime for KRAS)
770,000& 122 9,240




2A: EXEED

M MO XH 22
oeol: EXlo 58X 29 (crel =2l
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
K== (A01) 6,046 0 6,046
201 LB-2AH| 6,046 0 6,046
01 AtR2telt] 6,046 0 6,046
OXNEIIEH 2el8I(=AF L EXI) 6,046
—& X 189,200& *30& 5,676
— A 12,320& *30& 370
PNESES=IEAYNY 6,046 16,280 A10,234
201 Ler23| 6,046
01 ArR22elt| 6,046
OXNEINIES 228l (= A 6,046
—& X 189,200 *30& 5,676
— & AHH] 12,3202 x30& 370
ANHE(2H) 6,046
201 B2 AY| 6,046
01 A=R2teld| 6,046
OX&EI|Z=E 2el8l(= 6,046
—&XIdl 189,200 *30& 5,676
— A 12,3202 x30& 370
JNESE=E S gl 162,051
201 L2 | 9,120
01 A=R2teld| 9,120
OXENDL gzes) A2 WH
346,500& 347
OXIE ML OlAIHI 8,773
—&0|F 2,970,000& 2,970
— AR 2,970,000& 2,970
—FF 2,833,000 2,833
405 RtaHE S| 152,931
01 ML ZSEFHSHI 152,931
ogegsd e 24X 90,024
—&0l7 28,923,000& 28,923
— AR 30,970,000& 30,970
—FF 30, 131,000& 30,131
Qs &x 62,907
—&0|F 14,555,000 14,555
— AR 22,103,000 22,103
—2FF 26,249,000 26,249
S2UHEE S2AHIA 2 126,235 126,235 0
AHBAAEH(GIS) 2H 126,235 126,235 0
SUEBAAE SN RXI22] 126,235 126,235 0
201 LB-2AY| 126,235 126,235 0
02 324l 126,235 126,235 0




A EXNEE
HY: DEE ZAMHIA
ol DAFBAIAL(GIS) 2 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSAUEEAIAE SN |XI2el| 126,235
—0B & FX|2tc 33,510,000& 33,510
—AAE =R2 9,725,000& 92,725
HY2EGH(ENFEED) 59,820 57,036 2,784
=3l 59,820 57,036 2,784
Jl=23H] 59,820 57,036 2,784
201 Ler23| 32,460 24,636 7,824
01 At2teltl 17,280 21,600 A4,320
ORANEgII123H 17,280
— eS| 40,0002 x20EH*122+0.8 7,680
—= 2l 50,0003 x20E*12&+0.8 9,600
2 S5=24g4l 15,180 3,036 12,144
OR8ER=s 2,530 %5002+ 12 15,180
202 04l 24,480 28,800 A4,320
01 =LHAHI 24,480 28,800 A4,320
Oge=dJI20H|
120,000 x202 =122 +0.8 23,040
OszgzLze 22X SO
120,000 x1&* 122 1,440
203 HR=H] 2,880 3,600 AT20
M EA2ER=AH 2,880 3,600 ANT20
ORNEgE =AY
300,000 *122+0.8 2,880




